## 9 | Page Chapter 1 Real Numbers Smits Cantinuity Prof.M. Tanveer # 0300-9602869

Evaluate the
1. $\lim_{x\to 2} \frac{x-2}{\sqrt{2+x}}$
$= \lim_{\underline{x} \to 2} \underbrace{x - 2}_{\underline{x}}$
$\lim_{\alpha \to 2} \sqrt{2+x}$
$= \frac{2-2}{\sqrt{2+2}} = \frac{0}{\sqrt{4}}$
$\sqrt{2+2}$ $\sqrt{4}$
= 0
$\lim_{x\to 1} \left( \frac{1}{1-x} - \frac{3}{1-x^3} \right)$
$3 \rightarrow 1   1 - 2 - 1 - 2^3  $
$ \lim_{x \to 1} \left( \frac{1}{1-x} - \frac{3}{(1-x)(x^2+x+1)} \right) $
$\frac{x-71\left(1-x-\left(1-x\right)\left(x+x+1\right)}{\left(x^{2}+x+1\right)-3}$
$\lim_{x\to 1} \frac{\left(x^2 + x + 1 - 3\right)}{\left(1 - x\right)\left(x^2 + x + 1\right)}$
$-lim$ $/x^2+x-2$
$= \underset{x \leftrightarrow 1}{\lim} \left( \frac{x^2 + x - 2}{(1 - x)(x^2 + x + 1)} \right)$
$= \lim_{x \to 1} \left( \frac{x^2 + 2x - x - 2}{(1-x)(x^2 + x + 1)} \right)$
= $\lim_{x\to 1} \left( \frac{x(x+2)-1(x-2)}{(1-x)(x^2+x+1)} \right)$
$-\frac{(1-\lambda)(x+\lambda+1)}{(x-1)(x+2)}$
$= \lim_{\chi \to 1} \frac{(\chi - 1)(\chi + 2)}{(1 - \chi)(\chi^2 + \chi + 1)}$
= lim - (1-x)(x+2)
$- x \rightarrow 1  (y \rightarrow x)(x^2 + x + 1)$
= - <u>(1+2)</u> (+1+1
= -3/3
= -1
6. Lim Sinax
Sinox Sinax
$= \lim_{x \to 0} \frac{ax}{-x}$
by Sinbx
$= \frac{a}{b} \lim_{x \to 0} \frac{\sin ax}{ax} - a 1$
$\frac{b}{\text{Lim}} \frac{3c}{0} \frac{5c}{b} \frac{1}{1}$
= 0v/b

indicated Limits. (1-30)

2. 
$$\lim_{x \to 1} \frac{x^3-1}{x-1}$$

=  $\lim_{x \to 1} (x \to 1)(x^2+x+1)$ 

=  $\lim_{x \to 1} (x \to 1)(x^2+x+1)$ 

=  $\lim_{x \to 1} (x^2+x+1)$ 

7. 
$$\lim_{x \to 0} \frac{1-\cos x}{x}$$

$$= \lim_{x \to 0} \frac{1=\cos x}{x^2} \frac{1+\cos x}{1+\cos x}$$

$$= \lim_{x \to 0} \frac{1-\cos^2 x}{x^2(1+\cos x)}$$

$$= \lim_{x \to 0} \frac{\sin^2 x}{x^2(1+\cos x)}$$

$$= \lim_{x \to 0} \frac{\sin^2 x}{x^2(1+\cos x)}$$

$$= \lim_{x \to 0} \frac{(\sin x)^2 \cdot \lim_{x \to 0} \frac{1}{1+\cos x}}{x^2(1+\cos x)}$$

$$= 1 \cdot \lim_{x \to 0} \frac{1-\cos x}{x^2(1+\cos x)}$$

$$= \lim_{x \to 0} \frac{\sin x}{x} \cdot \lim_{x \to 0} \frac{1}{1+\cos x}$$

$$= 1 \cdot \lim_{x \to 0} \frac{1-\cos x}{x^2(1+\cos x)}$$

$$= \lim_{x \to 0} \frac{1-\cos^2 x}{x^2(1+\cos x)}$$

9. Lem tam(Sinx)

Let 
$$Sinx = 0$$

When  $x \neq x$ 
 $0 \rightarrow 0$ 

=  $Lim$  tand
 $0 \rightarrow 0$ 
 $0 \rightarrow 0$ 

2. 
$$\lim_{x \to \infty} \frac{\int x^2 + 1}{x + 1}$$

$$\lim_{x \to \infty} \frac{\int x^2 (1 + 1/x^2)}{x + 1}$$

$$= \lim_{x \to \infty} \frac{\int x^2 (1 + 1/x^2)}{x + 1/x}$$

$$= \lim_{x \to \infty} \frac{x + 1}{x + 1/x}$$

$$= \lim_{x \to \infty} \frac{\int x^2 (1 + 1/x^2)}{x + 1/x}$$

$$= \frac{\int 1 + 1/\infty}{1 + 1/\infty}$$

$$= \frac{\int 1 + 0}{1 + 0}$$

$$= 1$$

8. 
$$\lim_{y \to x} \frac{y^{1/3} - x^{1/3}}{y - x}$$

=  $\lim_{y \to x} \frac{(y^{1/3})^2 - (x^{1/3})^2}{(y^{1/3})^3 - (x^{1/3})^3}$ 

=  $\lim_{y \to x} \frac{(y^{1/3})^2 - (x^{1/3})^2}{(y^{1/3} - x^{1/3})(y^{1/3} + x^{1/3})}$ 

=  $\lim_{y \to x} \frac{(y^{1/3} - x^{1/3})(y^{1/3} + x^{1/3})}{(y^{1/3} + x^{1/3})(y^{1/3} + x^{1/3})}$ 

=  $\lim_{y \to x} \frac{y^{1/3} + x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{y \to x} \frac{y^{1/3} + x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{y \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{y \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{3x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}}{y^{1/3} + x^{1/3}} = \frac{2x^{1/3}}{x^{1/3} + x^{1/3}}$ 

=  $\lim_{x \to x} \frac{x^{1/3}$ 

Lim  $(1+\frac{1}{2})=e$ 11 | Page Chapter 1 | Real Numbers, Limit Continuity Prof.M. Tanveer # 0300-96028

11 | Page Chapter 1 | Lim | Lim | 
$$\frac{1}{x \to \infty} \left(1 + \frac{2}{x}\right)$$

$$= \left[ \lim_{x \to \infty} \left(1 + \frac{1}{x|_2}\right)^{\frac{2}{2}} \right]^2$$

$$= \left[ \lim_{x \to \infty} \left(1 + \frac{1}{x|_2}\right)^{\frac{2}{2}} \right]^2$$

$$= \left[ \lim_{x \to \infty} \left(1 + \frac{1}{x|_2}\right)^{\frac{2}{2}} \right]^2$$

$$= \left[ \lim_{x \to \infty} \left(1 + \frac{1}{x|_2}\right)^{\frac{2}{2}} \right]^2$$

$$= \left[ \lim_{x \to \infty} \left(1 + \frac{1}{x|_2}\right)^{\frac{2}{2}} \right]^2$$

$$= \left[ \lim_{x \to \infty} \left(1 + \frac{1}{x|_2}\right)^{\frac{2}{2}} \right]^2$$

$$= \lim_{x \to \infty} \frac{1}{x} = \lim_{x \to \infty} \frac{1}{x}$$

$$= \lim_{x \to \infty} \frac{1}{x} = \lim_{x \to \infty} \frac{1}{x} = \lim_{x \to \infty} \frac{1}{x}$$

$$= \lim_{x \to \infty} \frac{1}{x} = \lim_{x \to$$

= 2

$$\begin{array}{lll}
15. & \lim_{x \to \infty} (1 - \frac{1}{x})^{x} \\
&= \left[ \lim_{x \to \infty} (1 + \frac{1}{(-x)})^{x} \right] \\
&= e^{-1} \\
&= e^{-1} \\
&= \lim_{x \to \infty} (\frac{1}{1 + x})^{x} \\
&= \lim_{x \to \infty} (\frac{1 + x}{x})^{x} \\
&= \lim_{x \to \infty} (\frac{1 + x}{x})^{x} \\
&= \lim_{x \to \infty} (1 + \frac{1}{x})^{x} \\
&= \lim_{x \to \infty} (1 + \frac{$$

21. 
$$\lim_{x \to \infty} \frac{x^2 + 1}{x^{312}}$$

$$= \lim_{x \to \infty} \frac{x^2 \left(1 + \frac{1}{2}x^2\right)}{x^{2} \times x^{3/2}}$$

$$= \lim_{x \to \infty} \frac{1 + \frac{1}{2}x^2}{x^{3/2-2}}$$

$$= \lim_{x \to \infty} \frac{1 + \frac{1}{2}x^2}{x^{-1/2}}$$

$$= \lim_{x \to \infty} \frac{1 + \frac{1}{2}x^2}{x^{-1/2}}$$

$$= \lim_{x \to \infty} \frac{x^{1/2} \left(1 + \frac{1}{2}x^2\right)}{x^{-1/2}}$$

$$= \infty \left(1 + \frac{1}{2}x^2\right)$$

$$= \infty \left(1 + \frac{1}{2}x^2\right)$$

23. 
$$\lim_{x \to \infty} \frac{3-2x^4}{1+x}$$

$$= \lim_{x \to \infty} \frac{x^3 \left(\frac{3}{x}4^{-2}\right)}{x^2 \left(1+\frac{1}{x}\right)}$$

$$= \lim_{x \to \infty} \frac{x^3 \left(\frac{3}{x}4^{-2}\right)}{(1+\frac{1}{x})}$$

$$= \frac{\infty \left(\frac{3}{100}-2\right)}{(1+1/00)}$$

$$= \frac{\infty (0-2)}{1-0}$$

$$= \infty$$

25. 
$$\lim_{x \to 3^{-}} \left( \frac{1}{x-3} - \frac{1}{|x-3|} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{1}{x-3} - \frac{1}{|x-3|} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{1}{x-3} + \frac{1}{x-3} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{2}{x-3} + \frac{1}{x-3} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{2}{x-3} + \frac{1}{x-3} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{2}{x-3} + \frac{1}{x-3} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{2}{x-3} + \frac{1}{x-3} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{2}{x-3} + \frac{1}{x-3} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{2}{x-3} + \frac{1}{x-3} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{2}{x-3} + \frac{1}{x-3} \right)$$

$$= \lim_{x \to 3^{-}} \left( \frac{2}{x-3} + \frac{1}{x-3} \right)$$

22. 
$$\lim_{X \to \infty} \frac{5x^3 + 2x^{-1}}{x - 4x^4}$$

$$= \lim_{X \to \infty} \frac{x^3 \left(5 + \frac{2}{x} - \frac{1}{x^3}\right)}{x^4 \left(\frac{1}{x^3} - \frac{1}{x^4}\right)}$$

$$= \lim_{X \to \infty} \frac{5 + \frac{2}{x} - \frac{1}{x^2}}{x \left(\frac{1}{x^3} - \frac{1}{x^4}\right)}$$

$$= \frac{5 + \frac{2}{x^2} - \frac{1}{x^2}}{x \left(\frac{1}{x^3} - \frac{1}{x^4}\right)}$$

$$= \frac{5 + \frac{2}{x^2} - \frac{1}{x^2}}{x \left(\frac{1}{x^3} - \frac{1}{x^4}\right)}$$

$$= \frac{5 + 0 - 0}{x \left(0 - 4\right)}$$

$$= \frac{5}{x^2}$$

$$= 0$$

24. 
$$\lim_{x \to -1} \frac{x^{1/3} + 1}{x + 1}$$

$$= \lim_{x \to -1} \frac{x^{1/3} + 1}{(x^{1/3})^3 + (1)^{1/3}}$$

$$= \lim_{x \to -1} \frac{x^{1/3} + 1}{(x^{1/3} + 1)(x^{2/3} + 1 - x^{1/3})}$$

$$= \lim_{x \to -1} \frac{1}{x^{2/3} - (-1)^{1/3} + 1}$$

$$= \frac{1}{(-1)^{2/3} - (-1)^{1/3} + 1} = \frac{1}{+1 - (-1) + 1}$$

$$= \frac{1}{3}$$
26. 
$$\lim_{x \to -1} \frac{x^{2} + 2x - 8}{x^{2} + 2x - 8}$$

26. 
$$\lim_{x \to -2} \frac{x^2 + 2x - x^2 - 4}{x^2 - 4}$$

$$= \frac{(-2)^2 + 2(-2) - 8}{(-2)^2 - 4}$$

$$= \frac{4^2 - 4^2 - 8}{4 - 4}$$

$$= -\frac{8}{0}$$

$$= -\infty$$

27. 
$$\lim_{X \to 1} \frac{\sqrt{1-x^2}}{1-x}$$

$$= \lim_{X \to 1^{-}} \frac{\sqrt{(1+x)(1-x)}}{(1-x)}$$

$$= \lim_{X \to 1^{-}} \frac{\sqrt{1+x}\sqrt{1-x}}{\sqrt{1-x}}$$

$$= \lim_{X \to 1^{-}} \frac{\sqrt{1+x}\sqrt{1-x}}{\sqrt{1-x}}$$

$$= \frac{\sqrt{1+1}}{1-1} = \frac{1}{\infty}$$

$$= \infty$$

28. 
$$\lim_{\alpha \to 1^{+}} \frac{\alpha - 1}{\sqrt{\alpha^{-1}}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\alpha - 1}{\sqrt{(\alpha + 1)(\alpha - 1)}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

$$= \lim_{\alpha \to 1^{+}} \frac{\sqrt{\alpha - 1}}{\sqrt{\alpha + 1}}$$

10. 
$$\lim_{x \to \infty} \frac{x + \sin x}{x}$$

$$= \lim_{x \to \infty} \left( \frac{x}{x} + \frac{\sin x}{x} \right)$$

$$= \lim_{x \to \infty} \left( 1 + \frac{\sin x}{x} \right)$$

$$= \lim_{x \to \infty} (1) + \lim_{x \to \infty} \frac{\sin x}{x}$$

$$= 1 + 0$$

$$= 0$$

31. Let 
$$f(x) = \begin{cases} x^2 + 3 & \text{if } x \le 1 \\ 2x + 1 & \text{if } x \ge 1 \end{cases}$$

(i) find  $\lim_{x \to 1^+} f(x) = \lim_{x \to 1^$ 

(ii) 
$$\lim_{x\to 1^{-}} f(x) = \lim_{x\to 1^{-}} (x^2 + 3) = 1 + 3 = 4$$

32. 
$$f(x) = \begin{cases} 3 & \text{if } x \le -2 \\ -\frac{1}{2}x^2 & \text{if } -2 < 2 < 2 \\ 3 & \text{if } x > 2 \end{cases}$$

find 
$$\lim_{x\to \pm 2^+} f(x)$$
 &  $\lim_{x\to \pm 2^-} f(x)$ 

Sol. 
$$\lim_{x \to -2^{-}} f(x) = \lim_{x \to -2^{-}} (3) = 3$$
  

$$\lim_{x \to -2^{+}} f(x) = \lim_{x \to -2^{+}} \left(-\frac{1}{2}x^{2}\right)$$

$$= -\frac{1}{2}(-2)^{2}$$

$$= -2$$

$$\lim_{x \to +2} f(x) = \lim_{x \to +2} \left( -\frac{1}{2} x^2 \right)$$

$$= -\frac{1}{2} (2)^{\frac{1}{2}}$$

$$= -2.$$

$$\lim_{x\to 2^+} f(x) = \lim_{x\to 2^+} (3) = 3$$

35. Let 
$$f(x) = \begin{cases} x^2 & \text{if } x \leq 1 \\ x^3 & \text{if } x > 1 \end{cases}$$

$$\lim_{x \to 1^{-}} f(x) = \lim_{x \to 1^{-}} x^{2}$$

$$= 1$$

$$\lim_{x \to 1^{+}} f(x) = \lim_{x \to 1^{+}} (x^{3})$$

$$\lim_{x\to 1^-} f(x) = \lim_{x\to 1^+} f(x) = \lim_{x\to 1} f(x)$$

$$\lim_{x\to 1} f(x) = 1$$

37. Evaluate.

$$\lim_{x \to 3} \frac{3-x}{|x-3|}$$

$$= \lim_{x \to 3} \frac{3-x}{-(x-3)}$$

$$= \lim_{x \to 3} \frac{3-x}{+(3-x)}$$

$$= 1$$

Sol. 
$$f(x) = \begin{cases} x^{2}-1 & \text{if } x \le 2 \\ \sqrt{x+2} & \text{if } x > 2 \end{cases}$$

$$\frac{\int_{x+2}^{x+2} f(x)}{\int_{x+2}^{x+2} f(x)} = \lim_{x \to 2^{-1}} f(x) =$$

$$\begin{array}{r} 3 \rightarrow 2 \\ = 4 - 1 \\ = 3 \\ = 3 \\ \Rightarrow 2^{+} \\ = \sqrt{2 + 7} = \sqrt{9} \\ = 3 \end{array}$$

$$\lim_{x\to 2^{-}} f(x) = \lim_{x\to 2^{+}} f(x) = \lim_{x\to 2^{+}} f(x)$$

34. 
$$f(x) = \begin{cases} \cos x & \text{if } x \le 0 \\ 1-x & \text{if } x > 0 \end{cases}$$
find  $\lim_{x \to \infty} f(x)$ 

find 
$$\lim_{x \to 0} f(x)$$
  
 $\int_{x \to 0}^{\infty} f(x) = \lim_{x \to 0} f$ 

$$\lim_{x \to 0} f(x) = \lim_{x \to 0^{+}} f(x) = \lim_{x \to 0} f(x)$$

$$\lim_{x \to 0} f(x) = 1$$

36. 
$$f(x) = \{x+2 | if x \le -1 \}$$
  
 $\{ax^2 | if x > -1 \}$   
if limit exists. Find a.

 $\lim_{x \to -1^{-}} f(x) = \lim_{x \to -1^{-}} (x+2) = (-1+2)$ 

$$\lim_{x \to -1^+} f(x) = \lim_{x \to -1^+} ax^2 = (1)a$$

$$= a$$

Limit exist so  

$$\lim_{x \to -1^+} f(x) = \lim_{x \to -1^+} f(x)$$

$$\Rightarrow 0 = 1$$

38. Evaluate.

Lim  $x \to 0$   $x \to 0$  x = |x|Sol. =  $\lim_{x \to 0} \frac{x}{x - |x|}$   $= \lim_{x \to 0} \frac{x}{x - |x|}$   $= \lim_{x \to 0} \frac{x}{x + |x|}$   $= \lim_{x \to 0} \frac{x}{x - |x|}$ 

 $\begin{array}{c|c}
h \to 0 & h \\
\hline
= \lim_{h \to 0} -(-1+h)-1 \\
h \to 0 & h
\\
= \lim_{h \to 0} \frac{\nu - h - \nu}{h} \\
= \lim_{h \to 0} \frac{-h}{\mu} \\
= \lim_{h \to 0} (-1) \\
h \to 0$ 

40. Evaluate, [....] being the bracket function.

(b)  $\lim_{x\to 1} [2x](x-1)$ 

 $\lim_{\substack{x \to 1 \\ x \to 1^{-}}} [2x](x-1)$   $= \lim_{\substack{x \to 1^{-} \\ x \to 1^{-}}} [2x] \lim_{\substack{x \to 1^{-} \\ x \to 1^{-}}} (x-1)$ 

 $\lim_{\alpha \to 1^{+}} \frac{[2\alpha](\alpha-1)}{\alpha \to 1^{+}} = \lim_{\alpha \to 1^{+}} \frac{[2\alpha]\lim_{\alpha \to 1^{+}} (\alpha-1)}{\alpha \to 1^{+}}$   $= \frac{2(0)}{2}$ 

 $\Rightarrow \lim_{\alpha \to 1} \left[ 2x \right] (x-1) = 0$ 

 $\lim_{x\to 0} \left[x\right]\left[x+1\right]$ 

 $\lim_{x\to 0} \frac{[\alpha][\alpha+1]}{x\to 0} = \lim_{x\to 0} \frac{[\alpha]\lim_{x\to 0} [\alpha+1]}{x\to 0}$ 

 $\lim_{x\to 0^+} \frac{[x][x+i] = \lim_{x\to 0^+} [x] \lim_{x\to 0^+} [x+i]}{(0)(1)}$ 

 $\Rightarrow \lim_{x \to 0^{-}} [x][x+1] = \lim_{x \to 0^{+}} [x][x+1] = \lim_{x \to 0} [x][x+1]$ 

 $\Rightarrow \lim_{\alpha \to 0} [\alpha][\alpha + 1] = 0$ 

Available at www.MathCity.org

 $\lim_{x\to 0} x \left[\frac{1}{x}\right].$ 

By def. of Bracket Function.

$1 \leq \alpha \left[\frac{1}{\alpha}\right] \leq 1 - \alpha$ $\lim_{x \to 0^{-}} (1) = 1$ $\lim_{x \to 0^{-}} (1 - \alpha) = 1 - 0 = 1$ $\lim_{x \to 0^{-}} (1 - \alpha) = 1 - 0 = 1$ $\lim_{x \to 0^{-}} (1) = 1$ $\lim_{x \to 0^{-}} (1) = 1$ $\lim_{x \to 0^{+}} (1) = 1$ $\lim_{x \to 0^{+}} (1) = 1$ $\lim_{x \to 0^{+}} \alpha \left[\frac{1}{\alpha}\right] = 1$ $\lim_{x \to 0^{+}} \alpha \left[\frac{1}{\alpha}\right] = 1$ So	$\frac{\alpha\left(\frac{1}{\alpha}-1\right) \gg \alpha\left[\frac{1}{\alpha}\right] \gg \frac{1}{\alpha} \alpha}{1 \leq \alpha\left[\frac{1}{\alpha}\right] \leq 1-\alpha}$ $\lim_{\alpha \to 0^{-}} \frac{(1)}{\alpha \to 0} = 1$ $\lim_{\alpha \to 0^{-}} \frac{(1-\alpha)}{\alpha \to 0} = 1-\delta = 1$ By Sandwich Jheorem	$\frac{\alpha(\frac{1}{x}-1) \leq \alpha(\frac{1}{x})}{1-\alpha} \leq \alpha(\frac{1}{x}) \leq \alpha(\frac{1}{x})$ $\frac{1-\alpha}{\alpha} \leq \alpha(\frac{1}{x}) \leq 1$ $\lim_{\alpha \to 0^{+}} (1-\alpha) = 1-\alpha = 1$ $\lim_{\alpha \to 0^{+}} (1) = 1$
$\frac{\alpha\left(\frac{1}{\alpha}-1\right) \geqslant \alpha\left[\frac{1}{\alpha}\right] \geqslant \frac{1}{\alpha}}{1 \leq \alpha\left[\frac{1}{\alpha}\right] \leq 1}$ $1 \leq \alpha\left[\frac{1}{\alpha}\right] \leq 1 - \alpha$ $\lim_{x \to 0^{-}} (1) = 1$ $\lim_{x \to 0^{-}} (1-\alpha) = 1 - 0 = 1$ $\lim_{x \to 0^{-}} (1) = 1$ $\lim_{x \to 0^{-}} (1-\alpha) = 1 - 0 = 1$ $\lim_{x \to 0^{+}} (1) = 1$ $\lim_{x \to 0^{+}} (1) = 1$ By Sandwich Jheorem. $\lim_{x \to 0^{+}} \alpha\left[\frac{1}{\alpha}\right] = 1$ $\lim_{x \to 0^{+}} \alpha\left[\frac{1}{\alpha}\right] = 1$ So	$\frac{\alpha\left(\frac{1}{\alpha}-1\right) \gg \alpha\left[\frac{1}{\alpha}\right] \gg \frac{1}{\alpha} \alpha}{1 \leq \alpha\left[\frac{1}{\alpha}\right] \leq 1-\alpha}$ $\lim_{\alpha \to 0^{-}} \frac{(1)}{\alpha \to 0} = 1$ $\lim_{\alpha \to 0^{-}} \frac{(1-\alpha)}{\alpha \to 0} = 1-\delta = 1$ By Sandwich Jheorem	$\frac{\alpha(\frac{1}{x}-1) \leq \alpha(\frac{1}{x})}{1-\alpha} \leq \alpha(\frac{1}{x}) \leq \alpha(\frac{1}{x})$ $\frac{1-\alpha}{\alpha} \leq \alpha(\frac{1}{x}) \leq 1$ $\lim_{\alpha \to 0^{+}} (1-\alpha) = 1-\alpha = 1$ $\lim_{\alpha \to 0^{+}} (1) = 1$
$1 \leq \alpha \left[\frac{1}{\alpha}\right] \leq 1-\alpha \qquad 1-\alpha \leq \alpha \left[\frac{1}{\alpha}\right] \leq 1$ $\lim_{\alpha \to 0} (1) = 1$ $\lim_{\alpha \to 0} (1-\alpha) = 1-\delta = 1$ $\lim_{\alpha \to 0} (1-\alpha) = 1-\delta = 1$ $\lim_{\alpha \to 0} (1-\alpha) = 1 = 1$ $\lim_{\alpha \to 0} (1-\alpha) = 1$ $\lim_{\alpha$	$1 \leq \alpha \left[\frac{1}{\alpha}\right] \leq 1-\alpha$ $\lim_{x \to 0^{-}} (1) = 1$ $\lim_{x \to 0^{-}} (1-\alpha) = 1-\alpha = 1$ By Sandwich Theorem	$ \begin{array}{rcl} 1-\alpha & \leq \alpha \left\lceil \frac{1}{\alpha} \right\rceil \leq 1 \\ \lim_{\alpha \to 0^+} (1-\alpha) = 1 - 0 = 1 \end{array} $ $ \begin{array}{rcl} \lim_{\alpha \to 0^+} (1) & = 1 \end{array} $
$\lim_{x \to 0^{-}} (1) = 1$ $\lim_{x \to 0^{-}} (1-x) = 1 - 0 = 1$ $\lim_{x \to 0^{+}} (1-x) = 1 - 0 = 1$ $\lim_{x \to 0^{+}} (1) = 1$ $\lim_{x \to 0^{+}} (1) = 1$ $\lim_{x \to 0^{+}} (1) = 1$ $\lim_{x \to 0^{+}} \chi[1] = 1$	$\lim_{x \to 0^{-}} (1) = 1$ $\lim_{x \to 0^{-}} (1-x) = 1-0 = 1$ By Sandwich Theorem	$\lim_{x \to 0^{+}} \frac{(1-x)}{(1-x)} = 1 - 0 = 1$ $\lim_{x \to 0^{+}} \frac{(1-x)}{(1-x)} = 1$
$\lim_{x\to 0} (1) = 1$ $\lim_{x\to 0} (1-x) = 1 = 0 = 1$ $\lim_{x\to 0} (1-x) = 1 = 0 = 1$ $\lim_{x\to 0} (1) = 1$ $\lim_{x\to 0} x = 1$	Lim $(1-x) = 1-6 = 1$ By Sandwich Theorem	$\lim_{x \to 0^{+}} \frac{(1-x)}{(1-x)} = 1 - 0 = 1$ $\lim_{x \to 0^{+}} \frac{(1-x)}{(1-x)} = 1$
Lim $(1-x)=1-\delta=1$ By Sandwich Theorem $\lim_{x\to 0^+} (1) = 1$ By Sandwich Theorem. $\lim_{x\to 0^+} x\left[\frac{1}{x}\right] = 1$ $\lim_{x\to 0^+} x\left[\frac{1}{x}\right] = 1$ So	Lim $(1-x) = 1-6 = 1$ By Sandwich Theorem	$\lim_{x \to 0^+} (1) = 1$
By Sandwich Theorem By Sandwich Theorem. $\lim_{x\to 0^+} x\left[\frac{1}{x}\right] = 1$ So $\lim_{x\to 0^+} x\left[\frac{1}{x}\right] = 1$	By Sandwich Theorem	$\lim_{t \to 0} (t) = 1$ By Sandwich Theorem
by Sandwich Theorem By Sandwich Theorem. $\lim_{x\to 0^+} x\left[\frac{1}{x}\right] = 1$ So $\lim_{x\to 0^+} x\left[\frac{1}{x}\right] = 1$		By Sandwich Theorem
	$\lim_{x \to 1} x = 1$	
	x→6 [x]	$\lim_{x \to 0^+} x \left[ \frac{1}{2} \right] = 1$
$\Rightarrow \lim_{n \to \infty} \alpha \left[ \frac{1}{2} \right] = 1.$	\$	
υ <del>-7</del> 0 Γγ1	$\Rightarrow \lim_{\alpha \to 0} \alpha \left[ \frac{1}{\overline{x}} \right] =$	<b>1</b> :-
$\lim_{x\to 0} x^3 \left[ \frac{1}{x} \right].$		
By definition of Bracket Junction.	· · · · · · · · · · · · · · · · · · ·	bracket function.
\$ 2 € 2 €	' ' = [ 호] = 호	
when x <0 when x >0	hen x <0.	when 270
when $x < 0$ when $x > 0$ $x^3 \left(\frac{1}{2} - 1\right) > x^3 \left[\frac{1}{2}\right] > x^3 \cdot \frac{1}{2}$ $x^3 \left(\frac{1}{2} - 1\right) \le x^3 \left[\frac{1}{2}\right] \le x^3 \cdot \frac{1}{2}$	$ \alpha^3 \left(\frac{1}{2} - 1\right) \gg \alpha^3 \left[\frac{1}{2}\right] \gg \alpha^3 \cdot \frac{1}{2} $	$\alpha^{3}\left(\frac{1}{\alpha}-1\right) \leq \alpha^{3}\left[\frac{1}{\alpha}\right] \leq \alpha^{3}\frac{1}{\alpha}$
$\overline{\chi}^2 - \overline{\chi}^3 \geqslant \chi^3 \left[ \frac{1}{\overline{\chi}} \right] \geqslant \chi^2 \qquad \overline{\chi}^2 - \chi^3 \leqslant \overline{\chi}^3 \left[ \frac{1}{\overline{\chi}} \right] \leqslant \chi^2$	$\overline{\chi}^2 - \overline{\chi}^3 \gg \overline{\chi}^3 \left[\frac{1}{\overline{\chi}}\right] \gg \chi^2$	$\overline{x}^2 - \overline{x}^3 \leq \overline{x}^3 \left[ \frac{1}{\overline{x}} \right] \leq x^2$
$\lim_{\alpha \to 0} (\alpha^2 - \alpha^3) = 0 \qquad \lim_{\alpha \to 0^+} (\alpha^2 - \alpha^3) = 0$	$\lim_{\alpha \to 0} (\alpha^2 - \alpha^3) = 0$	$\lim_{x\to 0^+} (x^2-x^2) = 0$
$\lim_{x\to 0^{-}} (x^{2}) = 0$ $\lim_{x\to 0^{+}} (x^{2}) = 0$	$\lim_{x\to 0^{-}}(x^{2})=\delta$	$\lim_{x\to 0^+} (x^2) = 0$
⇒ By Sandwich Theorem By Sandwich Theorem	⇒ By Sandwich Theorem	
$\lim_{x\to 0^+} \overline{x}^3 \left[ \frac{1}{x} \right] = 0$ $\lim_{x\to 0^+} x^3 \left[ \frac{1}{x} \right] = 0$	$\lim_{x\to 0^{-}} \overline{x}^3 \left[ \frac{1}{x} \right] = 0$	$\lim_{x\to 0^+} x^3 \left[\frac{1}{x}\right] = 0$
50	50	
$= 2 \lim_{x \to \infty} \frac{1}{2x} = 0$		en e